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The smallest bone of human body is found in: Ear
a) Neck b) Nose ¢) Ear d) Eye c
Match the following pairs in association with State and Capital
A. Telangana i. Jaipur
B. Rajasthan ii. Chandigarh A-iii, B-1,
C. Madhya iii. Hyderabad C-iv, D-ii
Pradesh
D. Haryana iv. Bhopal
a) A-iv, B-i, b) A-iii, B-i, ¢) A-iii, B-i, | d) A-iv, B-ii, C-iii, b
C-iii, D-iv C-iv, D-ii C-ii, D-iv D-ii
Which of the following statements is not true?
A. Oslo is the Capital of Norway.
B. The old name of Bhagalpur is Champa Nagari. C& D
C. Mawsmai Falls is located in Assam.
D. Sisupalgarh the oldest city was located in Tamilnadu
a) A&D c) C&B dC& D D

b) B &D

Assertion (A): Brahmos is a supersonic missile.

Reason(R): Solid propellent Engine at its first stage brings it to
supersonic speed.

In the light of the above statements, choose the most appropriate
answer from the options given below.

A and R are true,
and R is the
correct
explanation of A.

a) A and R are true,
and R is the correct
explanation of A.

b) A and R are
true, but R 1is
not the correct

¢) Ais true,
but R is false.

d) A is false, but
R is true.

explanation of a
A.
Match the following pairs in association with National Parks and Wild
Animal
E. Gir v. Elephant and Tiger . .
- - - A-1v, B,
F. Periyar vi. One Horn Rhinoceros C-iii. D-ii
G. Bandhavgarh vii.  Tiger ’
H. Kajiranga viii.  Asiatic Lion
a) A-iv, B-i, b) A-i B-iii, c) A-iv, B-iii, | d) A-ii, B-i, .
C-iii, D-ii C-iv, D-ii C-ii, D-i C-iii, D-iv




6 AQI stands for:
Air Quality Index
a)Air Quality b) Air c)Air Quality | d)Air Quality
Inhale Qualification | Indepth Index d
Inhale
7 The formula to calculate Area (A) of the circle is: A )
=nr
a) A= 2nr? b) A=mr? c)A=2nr |d)A=1/2nr?
b
8 Match the following trigonometry angles with their value:
I. secO° iX. 2 Adiii, B,
J. cosec30° X. 172 Cuii. D-iv
K. cos 60° Xi. 1 ’
L. sin 270° xii. -1
a) A-iii, B-ii, b) A-ii, B-i, ¢) A-iii, B-i, d) A-iii, B-iv, .
C-iv, D-i C-iv, D-iii C-ii, D-iv C-ii, D-i
9 Which of the following statements is/are false?
A. Perimeter of a Rectangle = 2 X (Length+ Width)
B. Perimeter of a Square =4 X Length
C. Perimeter of a Triangle = Side A+ Side B+ Side C D only
D. Perimeter of a Rhombus is = 4 X Length X Breadth
Choose the correct answer from the options given below.
a) D only [b)A&Bonly [c)A,B,C&D |d)A,B & Conly a
10

Assertion (A): 3 can be divided either by 1 or 3 itself.
Reason(R): 3 is a prime number.

In the light of the above statements, choose the most appropriate answer
from the options given below.

A and R are true,
and R is the
correct
explanation of A.

a) A and R are
true, and R is the
correct
explanation of A.

b) Aand R are
true, but R is
not the correct

explanation of
A.

d) A is false, R is
true.

¢) Ais true,
but R is false.




11 Match the correct pairs of symbols with their name.
A. Copyright i. q o
B. Paragraph ii. ® élll‘i BDIH
C. Section iii. N ’
D. Registered iv. ©
a) A-iv, B-iii, b) A-i, B-iii, c) A-i, B-ii, d) A-iv, B-i, d
C-ii, D-i C-iv, D-ii C-iii, D-iv C-iii, D-ii
12 Mr. A walks 5 meter towards east turn left and walks 10 meter and turns
right and walks 6 meter and again turn right. If he starts walking straight South
Find out the direction he is moving towards ?
a) North | b)West ¢) East | d) South d
13 The "Safai Apnao, Bimaari Bhagao® initiative under Swachh Bharat Ministry of
Mission-Urban 2.0 was launched by the: Housing and
Urban Affairs
a) b) c) d) a
.. Ministry of Ministry of | Ministry of
%é?;;g of Health and Agriculture Rural
and  Urban Family Welfare Development
Affairs
14 A Payment bank does not issue: Credit card
a) ATM card b) Debit | ¢) Credit card d) PRAN card .
card
15 Which of the following sports is related to Syed Mushtaq Ali Trophy?
A. Hockey
B. Kabaddi
C. Cricket C onl
D. Football y
Choose the correct answer from the options given below:
a) C only [b) A& C |c)B only [d) B&D a
16 The position of India in the Global Gender Gap Index 2024 is: 129
a) 125 [b)129 |c) 134 | d) 125 b




17 Match the following pairs in association with person and quotation.
M. Lal Bahadur xiii.  Blood and water cannot flow
Sastri together. o
N. Narendra Modi xiv.  Jai Jawan, Jai Kisan A-ii, B_‘l’
O. Subhash xv.  Jai Jawan, Jai Kisan, Jai C-iv, D-iii
Chandra Bose Vignan
P. Atal Bihari xvi.  Give me blood, I will give you
Bajpayee the independence.
a) A-iii, B-ii, | b) A-ii, B-i, ¢) A-ii, B-iii, d) A-iii, B-iv, b
C-iv, D-i C-iv, D-iii C-i, D-iv C-ii, D-i
18
Assertion (A): The present Chief Justice of Supreme Court of India is
B. R. Gavai. . .
Reason (R): B. R. Gavai belongs to Telangana. gllssetrue, but Riis
In the light of the above statements, choose the most appropriate ’
answer from the options given below:
a) AandR b) AandR are c) Ais A is false,
are true, true, but R true, but R is
and R is is not the but R | true
the correct correct is false c
explanatio explanation
n of A. of A.
19 Which national park in Arunachal Pradesh, known for its rich Namdanh
biodiversity and high-altitude wildlife, has recently been highlighted for | \2¢apna
S National Park
successful snow leopard sightings?
a)Namdapha b)Mouling | c)Pakke Tiger | d)Kamlang
National Park National Reserve Wildlife (a)
Park Sanctuary
20 Match the sports personalities with their respective sports:
A Michael Phelps i Tennis Dy i g
B Usain Bolt ii Swimming A-ii, B-iii, C-i, D-
C Roger Federer iii Athletics v
D Serena Williams iv Tennis
a) A-ii, B-iii, | b) A-iii, B-iv, C- | ¢) A-i, B-iii, C- | d) A-iv, B-ii, C- @)
C-i, D-iv i, D-ii iv, D-ii iii, D-i
21 Intelligence Quotient (IQ) can also be defined as: A score derived

from standardized
tests to assess
cognitive abilities
relative to age

a) A measure of | b) A score
emotional derived from
intelligence standardized

C)A
personality
trait

d) A measure of
physical
coordination

b




tests to assess | assessment
cognitive tool
abilities

relative to age

22 How many distinct types of intelligence are identified by Howard
Gardner in his Theory of Multiple Intelligence? 9
a)5 [ b)7 [c)8 [ d)9 d
23 General Factor (g) and Specific Factor (s) are the factors of:
A. Spearman’s Two Factor Theory of Intelligence
B. Gardner’s Multiple Intelligences
C. Guilford’s Structure of Intellect A only
D. Thurstone’s Primary Mental Abilities
Choose the correct answer from the options given below:
a) B&C | b A&B | ¢) Donly | d) Aonly d
24
Assertion (A): Maslow’s hierarchy of needs suggests that self-
actualization is achievable only after lower-level needs are met.
A and R are true,
Reason(R): The hierarchy is structured in a pyramid, with physiological | and R is the
needs at the base and self-actualization at the apex. correct
explanation of A.
In the light of the above statements, choose the most appropriate
answer from the options given below.
a) A and R are | b) A and R are | ¢c) Ais true, d) A s false, but R
true, and R is | true, but R is | butRis is true.
the correct | not the correct | false.
. . a
explanation  of | explanation of
A. A.
25 Match the following pairs:
A. Trait Theory i. Source Traits Al Bii
B. Factor Theory ii. Cardinal Traits C_.l.l.’ i)l’ .
C. Psychoanalytical Theory | iii. Id, Ego, Superego i, LV
D. Humanistic Theory iv. Self-actualization
a) A-ii, B-iv, b) A-i B-iii, C- | ¢) A-iv, B-iii, | d) A-ii, B-i, d
C-iii, D-i iv, D-ii C-ii, D-i C-iii, D-iv
26 How many source traits are there in Cattell’s Factor Theory of
Personality? 16
a) 12 | b) 16 | )20 | d) 24 b




27 Which of the following intelligence(s) does/do not belong to Gardner’s
Theory of Multiple Intelligences
A. Musical intelligence
B. Crystallized intelligence
C. Naturalistic intelligence B only
D. Linguistic intelligence
Choose the correct answer from the options given below:
a) A& C | b B&D | c¢)Donly | d) Bonly d
28 In Maslow’s hierarchy, which need must be fulfilled before esteem
needs? Love/Belonging
a) Physiological | b) Safety | c¢) Love/Belonging | d) Self-actualization c
29 Match the following theories of intelligence with their proponents:
A. Two-factor Theory i. Guilford A-ii, B-i,
B. Structure of Intellect ii. Spearman C-iii, D-iv
C. Primary Mental Abilities | iii. Thurston
D. Multiple Intelligence iv. Gardner
a) A-ii, B-i, b) A-i B-iii, c) A-iv, B-iii, | d) A-ii, B-iv,
C-iii, D-iv C-iv, D-ii C-ii, D-i C-iii, D-i a
30 Which personality theory does emphasize the role of unconscious Freud’s
conflicts? Psychoanalytical
Theory
a) Allport’s b) Freud’s ¢) Cattell’s d) Maslow’s
Trait Theory | Psychoanalytical | Factor Theory | Humanistic b
Theory Theory
31 The primary goal of inclusive education is: Providing equal
educational
opportunities for
all students,
including those
with diverse
needs.
a) Segregating b) Providing c) Focusing d) Replacing
students based on | equal only on gifted | special
abilities. educational students. education
opportunities entirely.
for all b
students,
including
those with
diverse needs.




32

Which of the following is a key advantage of inclusive education?

Enhanced peer
interaction and

collaboration
a) Increased b) Enhanced ¢) Reduced d) Focus only
segregation peer teacher training | on academic
interaction and skills b
collaboration
33 Match the following pairs:
A. Inclusive Education b Ec.h_lcjatlon for - specific
disabilities
B. Special Education ii. - Partial - mainstream A-iii, B-i,
integration C-ii. D-iv
C. Integrated Education mo Full mainstream
inclusion
D. Diverse Needs v. Varied learning
requirements
a) A-iii, B-i, b) A-iii B-ii, | ¢) A-iv, B-iii, | d) A-ii, B-i,
C-ii, D-iv C-iv, D-1 C-ii, D-1 C-ii, D-iv a

34
Assertion (A): Inclusive education promotes social inclusion and
reduces stigma.

Reason(R): Inclusive education allows students with diverse needs to . .

. : . . ! A is true, but R is

interact with teachers only in mainstream settings. false

In the light of the above statements, choose the most appropriate

answer from the options given below.

a) Aand R are true, | b) A and R are | ¢) Ais true, but | d) A is false,

and R is the correct | true, but R is | R is false. but R is true.

explanation of A. not the correct .
explanation of
A.

35 Which of the following historical event did significantly influence the Salamanca
development of inclusive education? Statement (1994)
a)Industrial b)Salamanca ¢) World War d) Renaissance
revolution Statement 1I b

(1994)

36 What do diverse needs primarily indicate in the context of inclusive Physical,
education? cognitive, and

emotional

differences




a) Academic b) Physical, c) d) Language
performance only | cognitive, and | Socioeconomic | proficiency b
emotional status only only
differences
37 A school with 10% of students requiring special accommodations in
inclusive setting. If the school has 500 students, how many need special
accommodations? S0
a) A) 25 | b) 50 | 0) 75 | d) 100 b
38 Special education focuses on providing tailored instruction exclusively
for:
A. Children with disabilities in separate settings.
B. Children with aphasia in common settings. Aonl
C. Children with giftedness in separate settings. ony
D. Children with impulsivity in common settings.
Choose the correct answer from the options given below:
a) A&C | D) B&D | o Aonly | d) Bonly c
39
Inclusive education requires modifications to the:
A. Curriculum
B. Teaching methods
C. Learning resources A,B,C&D
D. Assessment
Choose the correct answer from the options given below:
a) Conly b) B & D only ¢c) A,B,C&D d)AB&C .
only
40

Assertion (A): Inclusive education requires teacher training in

differentiated instruction.

Reason(R): Teachers must adapt teaching methods to meet diverse
student needs.

In the light of the above statements, choose the most appropriate
answer from the options given below.

A and R are true,
and R is the
correct
explanation of A.

b) A and R are
true, but R is
not the correct
explanation of

¢) A is true, but
R is false.

d) A is false,
but R is true.

a) A and R are true,
and R is the correct
explanation of A.




A.

41 The applications of the Normal Probability Curve were significantly used by:
Carl Friedrich Gauss
a) Abraham de Moivre b) Carl Friedrich ¢) Robert d) James
Gauss Campbell Bernoulli b
42 Match the following based on type of scale and its characteristics:
A. Nominal i. Rank order
B. Ordinal ii. Equality of interval A-iii, B-i,
C. Interval ii. Determination of C-ii, D-iv
Equivalence/Non-Equivalence
D. Ratio iv. Quality of ratio
a) A-iv, B-iii, b) A-iii, B-i, ¢) A-i, B-ii, d) A-ii, B-i, b
C-ii, D-i C-ii, D-iv C-iv, D-iii C-iii, D-iv
43 Which of the following statements is/are not true?
A. A measure of central tendency is a value around which all the observations
have a tendency to cluster.
B. Mode is the most frequency occurring observation in the data set. D onl
C. Skewness provides an idea of the shape of the distribution of the data. y
D. Kaurtosis is the difference between the values of extreme items of a series.
Choose the correct answer from the options given below.
a) D only |b)A&B |c)C&D |d)C0n1y a
44
Assertion (A): Hypothesis (Null or Alternate) is framed to be verified or tested.
Reason(R): Comparing the value of test statistic with critical value, help in rejecting or | A and R are true, and
accepting null hypothesis. R is the correct
explanation of A.
In the light of the above statements, choose the most appropriate answer from the
options given below.
a)AandR are true,and R | b) A and R are | c) Ais true, but R d) Ais false, R
is the correct explanation | true, but R is not | is false. is true.
of A. the correct a
explanation of A.
45 Match the following pairs:
A. Descriptive statistics i. Summary of the data
B. Differential statistics ii. Inter comparison A-i, B-iii,
C. Percentiles iil. Inference of the data C-ii, D-iv
D. Percentage iv. Intra comparison
a) A-i, B-iii, b) A-i, B-iii, c) A-i, B-ii, d) A-iii, B-i,
C-ii, D-iv C-iv, D-ii C-iii, D-iv C-iii, D-iv 4
46 Mr. A, B, C, D and E appeared in an competitive exam held in May 2025. Mr. C
scored 86, Mr. B scored 91, Mr. A scored 72, Mr. D scored 58 and Mr. E scored 42 Ordinal Scale

marks out of 100.




Based upon the marks, they have been ranked as :

Mr. B 1% Rank
Mr. C 2" Rank
Mr. A 3% Rank
Mr. D 4"Rank and
Mr. E 5% Rank

Which of the following scale is used for ranking?

a) Nominal Scale | b) Ordinal Scale | ¢) Interval Scale | d) Ratio Scale b
47 Which of the following statements is/are false?
A. In a speed test, individual difference depends entirely on the speed of the
performance.
B. Analyzing the speech of a person is qualitative type of research.
- . . C only
C. Empirical research does not rely on experience or observation.
D. Action research is carried out to find the immediate solution of the problem.
Choose the correct answer from the options given below.
a) D only |b)A&B |c)C&D |d)C0n1y d
48 Review of the related literature of the problem helps in:
A. Selecting almost appropriate method.
B. Selecting variables
C. Finding research gap.
D. Setting hypothesis. AB,C&D
Choose the correct answer from the options given below.
a) D only |b)A&B0nly |c)A,B,C&D |d)A,B&Conly c
49 Match the following pairs.
A. Ordinal/Rank data i Wilcoxon
signed rank
test
B. Significant difference between ii. t- test R
. A-i, B-ii,
means of two groups with S,
. C-iii, D-iv
interval data
C. Level of agreement between two ii. Cohen’s kappa
raters. test
D. Significant differences between iv. Analysis of
means of three or more groups variance
with interval data
a) A-i, B-iii, b) A-i, B-ii, ¢) A-i, B-ii, d) A-iii, B, b
C-ii, D-iv C-iii, D-iv C-iv, D-iii C-ii, D-iv
50 The formula for calculating Intelligence Quotient (IQ) is:
MA/CA*100
a) MA/CA*100 | IMA/DA*100 | c) CA/MA*100 | d) DA/MA*100 a
51 Read the description of an activity in teaching learning process given
below.
“ A description of how the test will be constructed , including the details Blueprint

of the proportion of items that will assess different domains and skills
and response formats.”




The above described activity is known as:

a) Test b) Domain c) Blueprint d)
Contextual c
Information
52 Match the following LOTS and HOTS of original and revised
Taxonomy.
A. Knowledge i. Understanding A-iii, B-i,
B. Comprehension ii. Evaluating C-iv, D-ii
C. Synthesis iii. Remembering
D. Evaluation iv. Creating
a) A-iii, B-i, b) A-i B-iii, C-|c) A-iii, B-i, | d) A-ii, B-i, .
C-ii, D-iv iv, D-ii C-iv, D-ii C-iii, D-iv
53 Which of the following statement(s) is/are true in light of NCF 2025
about teaching in present times?
A. Education makes one competent for diverse needs.
B. Cultural education is must but in school it should be taught separately.
C. Pedagogy of depressed need to be addressed by depressed.
D. Multi-cultural education and teaching for diversity are the needs of D only
contemporary times.
Choose the correct answer from the options given below:
a) A&C | b B&D | ¢) Donly | d) Bonly c
54 How many types of evaluation commonly we come across? 4
a)4 |b)3 | 0)2 [d) 1 a
55 Which of the following is/are not the principle(s) mentioned by Knowles
(1984) about adult learning?
A. Adult need to be involved in the planning and evaluation of their
instruction.
B. Experience provides the basis for the learning activities. D onl
C. Adults are most interested in learning subjects that have immediate y
relevance and impact to their job or personal life.
D. Adult learning is as smooth as butter.
Choose the correct answer from the options given below:
a) A& C | b)B&D | c¢) Donly | d) Bonly c
56 Pedagogy means: Method of
Teaching
a) Method of Teaching. | b) Children are | c) Dealing with | d) Logic N
dependent. biological of the




development. | subject

matter.

57 Match the following pairs based on Revised Bloom’s taxonomy.
A. Remember i. Classify
B. Understand ii. Develop A-iii B-1,
C. Evaluate iii. Define C-iv, D-ii
D. Create iv Judge
a) A-iii, B-ii, b) A-iii B-i, c) A-iii, B-i, | d)A-ii, B, b
C-i, D-iv C-iv, D-ii C-iv, D-ii C-iii, D-iv
58
“A Science teacher is teaching in the class. Teacher has a very positive
perception about Mr. A. After explaining the concept in the class, teacher
asks a few questions. Mr. A fails to give the correct answer. Teacher
comes to his chamber and starts thinking why Mr. A could not answer Reflection on
the question? ” Action
Name the above mentioned narration of the event from the options given
below:
a) Reflection for Action | b) Reflection in | ¢) Reflection d)
Action on Action Reflection c
of Action
59 The role of education as social sub-system includes:
A. Providing knowledge, skills and employment only.
B. Transmitting culture, values and norms across generation.
C. Preparing individuals for higher education. B onl
D. Focusing on individual achievement. y
Choose the correct answer from the options given below:
a) C&D | DA&B | ¢ Bonly | d) Conly c
60 Education impacts social structure by:
A. Increasing the gap between rich and poor.
B. Reinforcing social inequalities.
C. Promoting social mobility and equal opportunity. C onl
D. Strengthening wealth among people of community. y
Choose the correct answer from the options given below:
a) C&D | DA&B | ¢ Bonly | d) Conly d
61 Assertion (A): Social group is a casual collection of people.

Reason(R): Members of a social group involve in interactions.

In the light of the above statements, choose the most appropriate answer

from the options given below.

A is false, but R
1s true.




a) A and R are true,
and R is the correct
explanation of A.

b) A and R are
true, but R is
not the correct

explanation of
A.

¢) Ais true, but
R is false.

d) A is false,
but R is true.

62 Education is a sub system of wider: Social System
a) Social System b) Political | ¢) Religious | d) Economical a
System System System
63 Match the following pairs:
A. Max Weber i. His work on role of education in
maintaining social solidarity is highly
influential
B. John Dewey ii. Authored ‘“Principle of Educational )
Sociology” in 1928 A-ili, B-iv,
C. George Payne iii. Worked on bureaucracy and role of C-ii, D-i
education in social stratification
D. Emile Durkheim | iv. Emphasizes on hands on learning and
importance of  education in
democratic society
a) A-iii, B-iv, b) A-i B-iii, c) A-iv, B-iii, | d) A-iii, B-iv,
C-ii, D-i C-iv, D-ii C-ii, D-i C-i, D-ii 2
64 The main principle(s) of caste system in India is/are:
A. Social Mobility based on individual merit.
B. A system of hierarchical social structure based on birth.
C. Open class structure with no social barrier. B only
D. A system where people are free to choose their occupation.
Choose the correct answer from the options given below:
a) C&D | b)A&B [ o Bonly | d) Aonly c
65

Assertion (A): The purpose of education is to pass on the culture and
values of society to its younger generation.

Reason(R): Conflict theory sees culture as norms, values and beliefs.

In the light of the above statements, choose the most appropriate answer
from the options given below.

A is true, but R
is false.

a) A and R are true,
and R is the correct
explanation of A.

b) A and R are
true, but R is
not the correct

explanation of
A.

¢) Ais true, but
R is false.

d) A is false,
but R is true.




66 Which of the following is the best for describing social demand for | Pupils of all
education? categories need
to seek
admissions at
all levels.
a) Pupils of specific | b) Pupils of all | ¢) The cost of | d) The
categories need to | categories need | providing facilities
seek admissions at | to seek | education to a | provided for
one school. admissions  at | specific group | elite group b
all levels of | of students | students need
education. needs to be |to be
increased. considered.
67 The culture refers to attitudes, religious beliefs, moral beliefs and _
etiquettes is known as: Non-material
culture
a) Material culture b) Intellectual | ¢) Non- | d)  Religious c
culture material culture | culture
68 A group‘of individuals having same social status in a given society is Social Class
called as:
a) Social group b) Social Class | c) Secondary | d) Secondary b
Group Class
69 Which of the following education sector is treated as a fundamental right
for all children aged 6 to 14 years in India according to the Right to Elementary
Education (RTE) Act, 2009? education
a) Elementary b) Secondary c¢) Higher d) Professional
education education education education a
70 Which of the following statement(s) about the District Primary Education
Programme (DPEP) is/are true?
A. DPEP aimed to universalize primary education through
decentralized planning and participation.
B. DPEP focused only on urban schools and excluded rural areas.
C. DPEP emphas1'zed' improving education quality, especially in A & C only
disadvantaged districts.
D. DPEP was implemented as a short-term pilot project in one state
only.
Choose the correct answer from the options given below:
a) A & B only |b)C&Donly [c) A& Conly | ¢) B & D only c
71 Assertion (A): Kasturba Gandhi Balika Vidyalaya (KGBV) scheme was

launched to promote the education of girls from disadvantage groups in
rural areas.

A'is true, but R
1s false.




Reason(R): The scheme provides residential schooling facilities for girls
at the secondary level in urban private schools.

In the light of the above statements, choose the most appropriate answer
from the options given below.

a) A and R are | b) A and R are | c) Ais true, but | d) A is false, but

true, and R is the | true, but R is | R s false. R is true.
correct explanation | not the correct
of A. explanation of ¢
A.
72 Match the provisions of the RTE Act, 2009 in column A with their correct
descriptions in column B:
A. Age group i. Prohibition of physical
covered punishment and mental
under the act harassment
B. Section 17 ii. 6 to 1'4 years. Adii, B,
C. 25% iii. Admission of Cuiii. Deiv
reservation in disadvantaged children. ’
private
schools
D. No detention iv. No failing till completion
policy of elementary education.
a) A-ii, B-i, C-iii, | b) A-ii, B-i, C- | ¢) A-iv, B- iii, | d) A-iii, B-iv, C-i
D-iv iv, D-iii C-il, D-i , D-ii a
73 What was the primary objective of the District Primary Education Improving
Programme (DPEP) launched in India? access and
quality of
primary
education in
educationally
backward
districts.
a) Providing b) Improving c¢) Introducing | d) Replacing the
vocational access and digital Sarva Shiksha
training to high quality of learning in Abhiyan (SSA)
school students. primary urban primary | with a new policy. b
education in schools.
educationally
backward
districts.
74 Which of the following statements about the District Primary Education
Programme (DPEP) are true? Aand C only

A. DPEP was supported by both the government of India and




international agencies like the World Bank.
B. DPEP completely replaced all other national education schemes.

C. One of the objectives of DPEP was to reduce gender and social

disparities in primary education.
D. DPEP was applicable only to private schools in selected districts.

Choose the correct answer from the options given below:

a) A& Conly b) B &D ¢c) A&B d) C & D only a
only only
75 The main objective of merging Sarva Shiksha Abhiyan (SSA) into the Creating an
Samagra Shiksha Abhiyan is: integrated
scheme for
school
education from
pre-primary to
higher
secondary level.
a) Focusing only | b) Separating c¢) Creating an | d) Privatizing
on primary teacher training | integrated government
education and from school scheme for schools for better
eliminate education. school management.
secondary education
education from pre- ¢
support. primary to
higher
secondary
level.
76 Which of the following does reflect the primary objective of the Sarva Ensuring free
Shiksha Abhiyan (SSA)? and compulsory
education for all
children aged 6
to 14 years.
a) Providing b) Ensuring c) Promoting d) Supporting
vocational free and higher education | private schools
training to youth | compulsory and research in expanding
in rural areas. education for among university | infrastructure. b
all children students.
aged 6 to 14
years.
77 Which of the following does reflect the approach of inclusive education Integrating

for children with special needs under initiatives like Sarva Shiksha

Abhiyan?

children with
special needs
into regular
schools with
necessary
support
services.

a) Establishing
separate schools

b) Integrating
children with

c¢) Providing
home-based

d) Focusing
only on

b




exclusively for
children with
special needs.

special needs
into regular
schools with
necessary
support services.

education only
for children
with severe
disabilities.

academic
achievement
without
addressing
individual
learning needs.
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Which of the following statements are true according to the RPWD Act-

2016 regarding the role of a care giver?

A. A caregiver can be a family member or any person designated by
the person with disability.
B. A caregiver must always be appointed by a competent authority
through a legal process.
C. A caregiver’s role includes supporting the person with disability in
decision-making and daily living activities.
D. A person with disability has the right or changes their care giver.

Choose the correct answer from the options given below:

Aand D

a) A&B

b)A&C

)B&C

d)A&D
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Assertion (A): The RPWD Act, 2016 mandates that all public buildings
shall be made accessible to persons with disabilities within stipulated time

frame.

Reason(R): The Act recognizes accessibility as a fundamental right and
includes specific timelines for the implementation of universal design.

In the light of the above statements, choose the most appropriate answer
from the options given below.

A and R are
true, and R is
the correct

explanation  of
A.

a) A and R are
true, and R is the

correct explanation
of A.

b) A and R are
true, but R is not
the correct

explanation  of
A.

¢) Ais true, but
R is false.

d) A is false,
but R is true.
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Match the educational schemes given in column-I with their objectives in

column-I1:
A. Beti Bachao 1. Residential schools for
Beti Padhao. girls from
disadvantaged groups.
B. Sukanya ii. Financial support for
Samriddhi girls pursuing technical
Yojana. education. A-iv, B-iii,
C. Kasturba iii. Financial savings C-i, D-ii
Gandhi Balika scheme for the
Vidyalaya. education and marriage
of girl child.
D. Pragati iv. Promotion of  girls’
Scholarship education in
Scheme. educationally backward
blocks.
a) A-iv, B-iii, C-i, | b) A-iv, B-i, C-|c) A-iv, B- iii, | d) A -iii, B-iv,
D-ii iii, D-ii C-ii, D-i C-i, D-ii a
81 In the context of Indian education and social policy, the ‘weaker sections’ | Socially and
of society are: economically
disadvantaged
groups such as
Scheduled
Tribes, Other
Backward
Classes,
minorities, and
persons with
disabilities.
a). People with | b) Individuals ¢) Socially and | d) Students
physical who are economically scoring below
strength less politically active | disadvantaged average in
than average. but groups such as academic
economically Scheduled performance.
poor. Tribes, Other
Backward c
Classes,
minorities, and
persons with
disabilities.
82 Arrange the following sentences in a logical sequence to form a
meaningful paragraph on the process of effective teaching:
A. Assessment and feedback help teachers understand how much the D,B,C&A

students have grasped.
B. Clear instructional goals provide direction for both teaching and




learning.

C. Engaging students actively in the learning process enhances
understanding.

D. Effective teaching begins with careful planning and understanding
learners’ needs.

Choose the correct answer from the options given below:

a)C,D,B &A c) BC,A&D |d) D,A,C&

b)D,B,C&A B

83

Read the following statements related to the maxims of teaching and
identify the two statements that are true:

A. Teaching should proceed from abstract to concrete.

B. Teaching should proceed from known to unknown.

C. Teaching should proceed from concrete to abstract.

D. Teaching should proceed from difficult to easy.

B&C

a) A&B [b)B&C  |[c)A&D ) D&A
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Assertion (A): Role play is an effective teaching strategy for developing
communication and social skills in students.

Reason(R): Role play allows students to passively observe and memorize
theoretical knowledge.

In the light of the above statements, choose the most appropriate answer
from the options given below.

Ais true, but R
1s false.

a) Aand R are | b) A and R are | c) Aistrue, but | d)Ais false,
true, and R 1is | true, but R is not | R is false. but R is true.
the correct | the correct

explanation of | explanation of A.
A.
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Match the teaching functions in Column-A with their corresponding
descriptions in Column-B:

A. Diagnostic i. Helping students
Function correct their learning

difficulties.

B. Developmental ii. Promoting the overall
Function growth of learners.

C. Prescriptive iii. Identifying strengths
Function and weaknesses in

learners.

D. Remedial iv. Suggesting suitable
Function strategies based on

student needs.

A-iii, B-ii,
C-iv, D-1




a) A-iii, B-ii, C- | b) A-ii, B-iv, C-iii, | ¢) A-iv, B-i, C-ii, | d) A-iii, B-i, C-
iv, D-i D-iii iv, D-ii a
86 Which of the following is the best to define Simulated Teaching? A teaching
technique that
involves
students
practicing
teaching skills
in a controlled
environment,
often with peers
acting as
students.
a) A method of b) A teaching c) A process d) A type of b
teaching where technique that | where teachers | online
students are taught | involves use virtual teaching
through real-life students reality tools to | where
classroom. practicing simulate educators use
teaching skills | classroom simulations of
in a controlled | environments real-world
environment, for effective situations to
often with peers | training. engage
acting as students in
students. problem-
solving.
87 Read the following statements about Programmed Learning and identify
the two statements that are true:
A. Programmed learning emphasizes passive listening to lectures.
B. Programmed learning involves breaking content into small,
sequential steps with immediate feedback. B&D
C. It discourages self-paced learning and promotes group-based
instruction.
D. Learners’ progress at their own pace based on their responses.
Choose the correct answer from the options given below:
a) A&B b)B&C |c)B&D |d)A&D c
88 Which of the following is the best to define learning in the context of A permanent
education? change in
behavior or
knowledge
resulting from
experience or
practice.
a) A temporary b) A permanent | c) A biological | d) A method b
change in behavior | change in process of of memorizing
due to mood or behavior or growth that facts without
emotion. knowledge occurs naturally | understanding

resulting from

over time.

their meaning.




experience or
practice.

89 Match the phases of teaching in Column A with their correct descriptions
in Column B:
A. Pre-active 1. Actual interaction between
Phase teacher and students takes
place.
B. Interactive ii. Planning of content,
Phase objectives, and strategies A-ii, B-i,
before teaching. C-iii, D-iv
C. Post-active iii. Evaluation of  teaching
Phase outcomes and student
performance.
D. Feedback iv. Gathering  responses  to
Phase improve  future  teaching
practices.
a) A-ii, B-i, C-iii, | b) A-iv, B-i, C- | ¢) A-iv, B- iii, | d) A -iii, B-iv,
D-iv iii, D-ii C-ii, D-i C-i, D-ii a
90 Arrange the following steps of the micro-teaching cycle in the correct
sequence:
A. The trainee re-teaches the lesson after incorporating the feedback.
B. Feedback is given by peers or supervisors based on the teaching
performance.
C. The trainee plans a short lesson and teaches it to a small group. C,B,D&A
D. The trainee reflects on the feedback and modifies the lesson plan
accordingly.
E.
Choose the correct answer from the options given below:
a)C,D,B & A b)D.B.C & A c) C,B,D&A %) D,AC& .
91 Assertion (A): Allport’s trait theory emphasizes that cardinal traits

dominate an individual’s personality.
Reason(R): Cardinal traits are common and do not shape a person’s

behavior across most situations.

In the light of the above statements, choose the most appropriate
answer from the options given below.

Ais true, but R
1s false

b) A and R are
true, but R is
not the correct

explanation of
A.

a) A and R are true,
and R is the correct
explanation of A.

d) A is false, but
R is true.

¢) Ais true,
but R is false.




92 What is primarily assessed in a performance-based intelligence test? Abstract
reasoning and
problem-solving

a) Language skills b)Abstract c) Emotional | d)Social skills
reasoning and | regulation b
problem-
solving
93 Assertion (A): Special education and inclusive education are identical in
their approach.
Reason (R): Special education and inclusive education aim to provide
education to students with disabilities. A is false, but R
is true.
In the light of the above statements, choose the most appropriate
answer from the options given below.
a) A and R are true, | b) A and R are | ¢) Ais true, but | d) A is false,
and R is the correct | true, but R is | R is false. but R is true.
explanation of A. not the correct d
explanation of
A.
94 Which of the following is not a characteristic of inclusive education?
Segregated
classrooms
a) Collaboration c¢) Supportive | d) Equal
among students b) Segregated | services in access to b
classrooms mainstream education
settings
95 Standard score is preferred because:
A. Ttindicates an index of relative rank.
B. Itis well defined property of normal curve.
C. Itrepresents a fixed and uniform number of units throughout scale.
D. Itis easy to analyze physical features of constructs. A, B & C only

Choose the correct answer from the options given below.

a) B only

b) A, B & C only

¢)A,B, C&D

d) A & B only
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Which of the following statements is/are false?

In research, Range and Standard Deviation are the Measures of Variability.

In research, Mean and Mode are the Measures of Central Tendency.

Skewness provides useful descriptive information about a distribution.

Kurtosis is a measure reflecting the degree to which a distribution is
asymmetrical.

oowp

Choose the correct answer from the options given below.

D only

a) D only | b) A only | ¢) B, C &D only | d) A & B only
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A practice that enables a learner to challenge the existing disposition and
reconstruct them from democratic egalitarian perspective individually and
collectively is known as:

Critical
Pedagogy

a) Critical Pedagogy b)
Andragogy

c) Pedagogy | d) Heutagogy
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Read the description carefully.

“A student is a very sincere and hardworking. Through out the academic
session she does well in all the activities. At the end of the session, she
appears in the exam but could not pass the exam. She is retained in the
same class.”

The above described process is called as:

Evaluation

a) Evaluation ¢) Measurement | d)

b) Testing Assessment

a

99

The social process through which cultural traits are spread from one
society to other is known as:

Cultural
diffusion

a) Acculturation b) Assimilation c) Cultural

diffusion

d) None of
these

100

Assertion (A): Culture preserves the features of past.

Reason(R): Culture reflects habits and customs.

A and R are

true, but R

18

not the correct

In the light of the above statements, choose the most appropriate answer eAxp lanation  of
from the options given below. '

a) A and R are true, | b) A and R are | ¢) Ais true, but | d) A is false,

and R is the correct | true, but R is | R is false. but R is true.

explanation of A. not the correct b

explanation of
A.







